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SINDHI HIGH SCHOOL, BENGALURU
HALF-YEARLY EXAMINATION [2021-22]
SUBJECT: ENGLISH LANGUAGE & LITERATURE
Class: IX Max Marks: 40
Date:4.10.2021 Time: 90 mins.
No. of sides: 13

Ggneral Instructions:

1. The Question Paper contains THREE sections.

2. Section A-READING has 18 questions. Attempt a total of 14 questions, as per specific
instructions for each question.

3. Section B-WRITING & GRAMMAR has 12 questions. Attempt a total of 10 questions,
as per specific instructions for each question.

4. Section C-LITERATURE has 30 questions. Attempt 26 questions, as per specific
instructions for each question.

5. All questions carry equal marks.

6. There is no negative marking.

L 3

SECTION A - READING
l. Read the passage given below.

1. While we may not all possess the ability to paint the Mona Lisa, compose like
Mozart, cook like Nigella Lawson, or write fike Hemingway, every human being is
born with a special talent. Some people are able to find and learn to express their
talents early on while others might discover them later in life. We are all creative
beings, and creative beings need to create as much as we need to eat, breathe and
sleep. Creativity has different meaning for different people but creativity is often
stifled. Its importance is not valued as much as it should be, which can have a
powerful effect on one’s overall ability to achieve true happiness and success in
life. If we stifle our creativity or discount its importance, we create blockages in
other aspects of life, which can hinder our ability to move forward in
different areas like health, work and personal relationships.

2.No matter how busy one’s schedule is, it is very important to schedule time for
self-care, specifically for expressing creativity. Trying out different hobbies is a
great way to explore one’s creativity because it can be very enjoyable. Some
people find one hobby and fall in love with it so much it becomes their passion. For
example, | love to play with natural ingredients and blend essential oils. Making all-
natural, organic skin care products and teaching the recipes in my community
workshops is one of my passions, Some people prefer to try different hobbies for
shorter periods of time, or change them up each season to stay interested and
keep trying different things.

3.0ne great thing about hobbies is that there are no set rules. Each person gets to
decide how often they want to do it and whether they want to stick with it for a
long time or move on to something else after trying it for a few weeks or months.
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4.Another valuable aspect of hobbies is that one can enjoy them quietly when
enjoying some downtime alone, or as a way to become involved with a community.
Book clubs, art or cooking classes, writers’ workshops, knitting circles, gardening
clubs - nearly every type of hobby presents an opportunity to meet with other
likeminded individuals and build relationships. This could be beneficial on both a
personal and professional level. In any business, especially the salon and spa
business, teamwork is vital to success.

5.Hobbies can be a great way to create a community among co-workers either in or
outside of the spa. Sometimes if co-workers are not getting along, having them
participate in a seemingly non-work related hobby, where all participants are
novices, can be great for creating common ground. Often times, the simple act of
providing an opportunity for a person to find and express his or her own inherent
creative talents produces significant positive changes. When people experience
something as simple and profound as creating something beautiful from seemingly
nothing, they begin to view the world - and daily environments - in a fresh, new
way.

Based on your understanding of the passage, answer any eight out of the ten questions

by choosing the correct option.

1. How can one explore one’s creativity?

a) Participating in work related activities.

b) Trying out different hobbies.

c) By stifling one’s interests.

'd) By creating blockages on other parts of life.
2. The importance of creativity is not valued as much as it should be because

a) it has different meanings to different people.

b} it's often stifled.

c) it can have a powerful effect on one’s overall ability
d) people prefer to try different hobbies for shorter periods of time

3. Hobbies build community or social relationship by:
a) providing an opportunity to express one’s interest

b) presenting an opportunity to meet with other
likeminded individuals

¢) enjoying some downtime alone

- d) trying out different hobbies
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4. According to the passage, people will begin to view the world in a new way
when:
a) they create something simple from seemingly nothing.

b) their daily environment changes.
c) they participate as a novice.
* d) they are born with innate talent.

5. What is the one great thing about taking up hobbies?
a) It needs specific ingredients.
b) We have to stick to it for a long time.
¢) There are no set rules.
d) All of the above.

6. The central idea of the passage is:
a) Non work-related activities strengthens teamwork.
b) Trying out hobbies for short periods of time is good.
¢) Cultivating hobbies and being creative leads to significant positive changes.
d) Inherent talent helps in being more creative.

7..The synonym of the word ‘stifled’ in para 1 is
a) free b) support c) suppress d) hide
8. Find the word which means ‘deep and intense’ :
a) blockage b) profound ¢) inherent d) significant
9. Give an antonym for the word ‘veterans’ (para 5).
a) novices b} seeming ¢) inherent d) co-workers
10. Identify the word in para 4 which means ‘the time when one is not working’.
a) opportunity b) downtime c) vital d) valuable

Il Read the following passége:

1. Netflix grew its number of subscribers by around 10% a year and now has an
estimate of more than 59 million subscribers in the US alone. Netflix's impact is
felt in a number of industries. It is what experts call the Netflix effect. Earlier,
consumers went to the movies and watched television. Netflix has changed it
completely. They are no longer tied to the television and its commercials. instead
of paying for cable plans, a growing number of Americans are cutting the cord

. and only using streaming services. In 2018, the number of people who cut the
cord increased by nearly 33%. :
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2. Netflix spent a staggering $13 billion on content in 2018. Original content is what
viewers need. Netflix’s Artificial Intelligence powered algorithm creates
personalised recommendations for each user. According to Netflix, 80% of
watched content comes from recommendations. In the age where brands across
all industries are trying to predict what customers want, Netflix is setting the bar.
Looking for new technology and staying ahead of trends help it define and disrupt
the industry.

3, Netflix’s content is put right in front of customers for easy marketing. Netflix
recently made a move into the independent film category, where traditional
movies in theatres typically face an uphill battle being seen. Essentially, for every
show Netflix creates, it is taking away viewers from a traditional show on network
TV. Film and television companies have to adjust their processes and content to
keep up with Netflix. Every company no matter the industry, can learn from
Netflix and apply the principles of innovation, disruption and personalization. If
they do not, they run the risk of being disrupted by the growing media giant that is
Netflix.

Based on your understanding of the passage, answer any six out of the eight questions
by choosing the correct option.

11. Why are large number of Americans no longer using the cable TV?

a) It is not user friendly

b) Poor connectivity is an issue

c) Netflix provides more streaming options

d) Both Netflix and cables cannot be accommodated in their budgets.
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12. Which of the following statement is TRUE?

a) Netflix is gaining reputation among its viewers because of its great
content.
b} Netflix is gaining acceptance among its viewers because of its brand
name.
c) Netflix is an extension of YouTube.
d) Netflix is a surf engine meant for educational videos.

13. The percentage of international subscribers of Netflix in 2016
may be seen as American subscribers. (Refer bar chart)
a) same as that of b) superseding

c) almost comparable to thatof  d) much less than

14. The expansion of Netflix to include international subscribers can be seen in the
year .(Refer bar chart).
a) 2005 b) 2017 c) 2011 d) 2007

15. Netflix effect means
a) dominance of Netflix in the entertainment market
b) effect of Netflix on the people
c) effect of Netflix in a particular area
. d) failure of Netflix as a streaming service.
16. A valuable lesson(s) that a company can learn through Netflix are

A. innovation and disruption B. behaviour and service
C. discovery and content trending  D. personalisation

a) CandD b) only B ¢)B,Cand D d)Aand D

17. What does the phrase ‘streaming services’ mean?

a) a continuous entertainment services

b) an online provider of entertainment through an internet connection
¢) service provided through cable

d) a network connection service through a cord

18. Find the word from the passage which means the same as ‘a process or set of
rules to be followed in calculations.’

a) subscribers b) commercials c) algorithm d) category
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GRAMMAR and WRITING

GRAMMAR

Ill. Answer any four out of the five questions by selecting the most appropriate
option for each. Do as directed in each question.

19. Complete the following by filling in the gap.

Writing (i) .......... always been the medium of expression for those (ii) ..........
are shy and nervous.

(i} (a) had (b)is (c) has (d) have

(ii) (a) which {b) who (c) that (d) whoever

20. Change from direct to indirect speech.
Joe said to me, “Go and meet the principal tomorrow.”
a) Joe said to go and meet the principal the next day.
b) Joe told me to go and meet the principal the next day.
c) Joe told me to meet the principal tomorrow.
d) Joe said to me to go and meet the following day.

21. Fill in the blank with the correct word.
I didn't have trouble getting the passports. | only had a problem

with my photo because it was an old one.

a) much b) any c) no d) several

22. Complete the sentence by choosing the correct option.

The members of the committee to the proposal.
a) was consented b) had been consented
c) have consented d) has consented

23. Use the appropriate word and fill in the blank.

The company of its stakeholders.

a) think b) thoughtful ¢) thinks d) thinking
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WRITING

IV. Answer the following with reference to the context below.

You have to write a descriptive paragraph on Mark Zuckerberg. Complete the

same by selecting the appropriate option from the following questions.
1 4

24. Select the option that would be an appropriate way to begin the paragraph.

a) Mark Zukerberg had a bunch of friends who were artists.
b) Mark Elliot Zuckerberg is an American computer programmer born on 14"
May 1984 in New York.
¢) Mark Zuckerberg began writing code for a new websiteu:\2004.
kd) Mark Zuckerberg visited Russian Prime Minister Dmitry Medvedev in Moscow
on October 1, 2012,

25. Select the appropriate lines you would use to describe his physical appearance.
A) He is tall with red hair and blue eyes

B) He weighs 76 kgs
C) He is 37 years old as of 2021
¢ D) He has reputation as a programming prodigy
E) He has one daughter named Maxima Chan Zuckerberg.

a) BE b) CD c) AB d) AC

26. Which statement indicates Zuckerberg’s unusual trait?

a) Zuckerberg’s main concern was whether or not Internet users would latch
onto Facebook
b) A key attribute that Zuckerberg has is his creativity.

c) After attending Phillips Exeter Academy, Zuckerberg enrolied at Harvard
University in 2002.

d) Mark Zuckerberg’s rise to stardom emerged with the development of
Facebook.

V. Knowledge is power. Based on the following visual along with your ideas, select the

most appropriate option that you would include while writing a story. (Answer any
three out of the four questions)
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ACTION CENTER

Each One Teach One

27. The most appropriate title for this story would be :
a) Knowledge is not free.
b) Education is not the most powerful weapon.
' c) Literacy is a bridge from misery to hope.
d) Illiteracy is the root cause of poverty.
28. The first paragraph of the story should include:
a) The message that the story conveys.
b) Introduction of the main character of the story.
c) The climax of the story.
¢ d) All of the above.

29. Which option should you select, to elaborate on the story line.

a) ¢ Llying through your teeth is often the best policy.
¢ lgnorance is bliss.

i b) * Llearning at every stage of life is an essential prerequisite for success.

¢ Self-belief and hard work always reaps benefits.

e Education will limit your avenues.

e People have been successful even without acquiring knowledge.

i d) * You can buy education, but wisdom is a gift of god.
e Only hard work won't bring you success.
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30. Select the option that would be an appropriate ending to the story.

a) if you are willing to learn, no one can help you. But if you are not determined
to learn, no one can stop you.
b) Every addition to true knowledge is an addition to human downfall.
¢) Education is the premise of progress in every society and every family.
* d) It’s all about what you do than about what you know.

LITERATURE

This section has sub-sections — VI, VII, Vili, IX & X. There are a total of 30 questions in
this section. Attempt any 26 questions from the sub-sections Vi to X.

Read the given extract to attempt the questions that follow: Answer two questions
from each extract.

V1. “Your children are not your children. They are the sons and daughters of Life’s
longing for itself. They come through you but not from you. You may give them
your love but not your thoughts. For they have their own thoughts.”

31. To whom do these words originally belong?

a) Abdul Kalam b) Khalil Gibran ¢} Jainulabdeen d} Jallaluddin
32. What does the above statement mean? Select the correct options.

A. That we don’t own our children and we don’t have control over their lives.

B. We provide nurturing, safety and love, and after all is said and done we must
stand out of the way and let them go.

C. Children belong to parents as they are a result of life’s desire for itself.

D. Children should be given freedom to fulfil their thoughts.

a) ACD b) CBD c) ABC d) ABD

33. To whom did Kalam’s father say these words?
a) To Kalam b) To Samsuddin ¢) To Ashiamma d} To Jaialuddin
34. Why did the speaker make the above statement?
a) To convince his hesitant wife b) To convince his family
¢} To convince Kalam to stay d) To convince himself
VIl. Where they harness the swift reindeer
, To the sledges, when it snows;

And the children look like bear’s cubs
In their funny, furry clothes
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35. Why are the children described as ‘bear's cubs’?
aj Because the%ﬁa bear forest
b) They play with bear cubs
c) They wear clothes made of fur

d) They hunt bear for their food

[

36. What is ‘swift reindeer’ an example of ?

a) Assonance b) Repetition c) Imagery d) Simile
37. Which of these words is a synonym for harness?
c) Track d) Rod

a) Strap b) Gear
38. Which poetic device is repeated in the third and fourth line of the stanza?

d) personification

a) metaphor  b) alliteration ¢) anaphora

VIIL. The poor little swallow grew colder and colder, but he would not leave the
Prince, he loved him too well. He picked up crumbs outside the baker’s door
when the baker was not looking, and tried to keep himself warm by flapping his

wings.
39. What does the swallow’s life say about him?

b) his selflessness

. a) his selfishness

c) his indifference d) his fickleness

40. What ultimately happened to the swallow?

a) He was turned into a statue like the Prince.

b) An angel brought him to heaven.

¢) He was rescued by the kind baker.

d) His friend came to join him in the city.

41. What made the swallow stay with the Prince?

a) He was weak and grew colder and colder.
b) He was hungry and could not fly.

¢) He loved the Prince for his kind heart.

d) None of the above.

4
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42. Which of these words is a synonym for ‘crumbs’? :
a) scraps b) drops c) seeds d) shreds

IX. “One bright day, a thief broke into a rich merchant’s house. He had made a
hole in the wall and sneaked in, and as he was carrying out his loot, the wall of
the old house collapsed on his head and killed him on the spot. His brother ran
to the king and complained, “Your Highness, when my brother was pursuing
his ancient trade, a wall fell on him and killed him. This merchant is to blame.
He should have built a good, strong wall. You must punish the wrongdoer and

compensate the family for this injustice.”
43. What was the reason for the king’s final judgement?

a) There was evidence suggesting the merchant’s guilt.
_b) The sons should inherit the father’s sins.
c) He accepted the statement of the thief's brother unquestioningly.
d) He decided to punish the merchant and seize his assets.
44. Who was ultimately responsible for the thief’s death?
a) The Merchant’s father b) The Merchant
¢) The dancer d) The thief’s brother
45. What is the meaning of the word ‘compensate’?
’ a) To make someone feel better
b) To pay money for work done
¢) To gift something useful
d) To be given money to make up for a loss
46. What does the phrase ‘carrying out his loot’ mean in the above extract?
a) to carry a heavy bag b) to carry the burgled items
¢) to carry out the activity d) to carry on with robbing
X. Answer the following:
47. How were the schools of the past different from the one Margie attended?
a) They were not real.
b) They were in a special building.
c) They had special lessons for each student.
d) They did not give homework.
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48. What does the road represent in the poem ‘The Road Not Taken’?
a) Tasks to be completed.
b) Choices made in life.
¢) Various options available.
d) The poet’s loneliness.
49. Where did Evelyn go after touring the United Kingdom?
a) The Royal Academy of Music
b) The Royal Society of Music
c) The Royal Philharmonic Society
d) The Royal Academic of Art

50. Tahar Mosiquee Ustaad Bismillah Khan auditorium is situated in :
a) Montreal b) Osaka
c) Teheran d) Bahrain

51. Where did Einstein wish to continue his study?
a) Germany b} Munich
c) German-speaking Switzerland d) Milan

52. In ‘The Kingdom of Fools’ the merchant said that his wall fell
because...caenes

a) the thief had tried to break in.

b) the wall was old and weak.

c) the bricklayer had not built it right.

d) the hole made in it was too big.

53. In ‘The Little Girl’ what gave a sense of relief to Kezia ?

a) Her father leaving the house and the voice of the carriage growing fainter.
b) Hearing the footsteps of her father coming in.

c) Her grandmother giving her the yellow silk cloth for the cushion.

d) Knowing that there were different kinds of fathers.

54. “He makes strong fires roar and flourish.” What does the poet imply by
strong and weak fires?
a) The difficulties faced by individuals.
b) The inner strength of the individuals.
¢) The actions of individuals.
d) The decisions made by individuals.
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55. “When the humid shadows hover
Over all the starry spheres”

What does the poet refer to using the phrase ‘humid shadows’?

a) Rain b) Clouds c¢) Sky d) Earth

56. What did the child in the story ‘The Lost Child’ do, when he realised he had lost
his parents?

a) He called for help.
b) He told the stranger to find them.
¢) He ran here and there crying and tried to find them.
d) He sat near the temple and waited for them.
57. Grandfather sold Toto back to the tonga driver for three rupees. How much did
Grandfather spend on Toto in the first place?
a) Ten rupees b) Three rupees
c) Six rupees d) Five rupees
58. What did the young playwright think when he found a beautiful sapphire on his
withered violets?
a) He thought it was from a great admirer of his plays.
b) He thought it was a gift from the Happy Prince.
¢) He thought someone had put it there by mistake.
d) He thought the sapphire was a reward from his Director.

59. What nightmare did Kezia have when she slept alone?
a) A giant with a knife
b) A butcher with a knife and rope
¢) An accident across the countryside
d) A dreadful smile of the Macdonalds

60. How did Einstein react to the bombing of Hiroshima and Nagasaki?

a) He was shocked.
b) He wrote a letter to the United Nations suggesting a world government.

c) He started campaigning for peace and democracy.
d) All of the above

e sk o ok e 3k ok oK ok ok ok oK 3 ok ok ok 3k o ok 3 ok ok ok ok K
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= SINDHI HIGH SCHOOL, BENGALURU

HALF-YEARLY EXAMINATION [2021-22]

SUBJECT: SCIENCE
Max Marks: 40
Time: 90 min
No. of Sides: 09

General Instructions:
} The Question Paper contains three sections.
2 Section A has 24 questions. Aftempt any 20 questions.
3 Seutd 3 1 24 guestions. Attempt any 28 questions.
4. 12 questions. Atternpt any 10 questions.
DAL c;';zes,z;ions r:arz} egual marks.
e &

gaestions from this seouvon.

are compactly arranged wi fthout intercellu

o} Meristaumatic tissue
dy Permarent tissue :

culum®

nucteus and

s {rom the infor

s § +
Slaremends

i‘u. 5LIE

iy with

wiiie

' S nervous

Y ’"“h, €1

R ST
Loose and




. The nerve impulse is transmitted through a neurcn from

aj Axon to dendrites c) Cyton to nerve endings
b} Dendrites to nerve endings d) Dendrites to dendrites

S

a} Chitin bj Lignin ¢} Suberin d) Cellulose

i The substance that makes the cork cells impervious to gases and water is

. Cell organelle involved in forming complex sugars from simple sugars is
- a) Endoplasmic reticulum bjRibosomes
c) Plastids d)Golgi apparatus

The raisins __ ___dueto____ when placed in water.
a} Shrinl, exosmeosis b} Shrink endosmosis
cISwell, endosmosis d) Swell, exosmosis

organelle of the cell as they possess
(i) Matrix {iil} DNA {i1i) Stroma {ivi Ribosome

aj 1 & i b} il & iil cj it & 1v d) it & v

Mitochondria and chioroplasts are unique when compared to other

Functional segments of DNA are called
ajRNA blGenes ¢} Chromosomes d)Nucleolus

i}t is composed of cells that are able to perform only cell division.
Ci1jit is composed of single type of cells.

vilijit is composed of cells that are incapable of cell division.

ivjIt hias cells that are {ocalised.

Q 0

i ddil bphi&iv ¢ i & dii, it & v

Which of the following statements are correct about meristamatic tissues?

' Which of the following classification of pure substance is incorrect?
"a) Boron: Metal b} Silicon: Metalloid ¢} lodine: Non-Metal
 Tungsten: Metai L

Which of the following property dues not describe a compound?
- aj It is composed of two elernernits only

‘b ltis a pure substance.

' ¢} It cannot be separated into constituents by physical means
d; It is has a fixed formila

: Which of the given activity would evolve the gas with rotten egg odour
' ) adding sulphuric acid te iron {illings

i b} adding ‘wﬁrochloric acid to sulphur

¢j adding hydrochloric acid to the compound Iron ([I)sulphide

&) adding hydrochloric acid to the mixture of iron and sulphur.

]

o




4
i
L

‘ compounds

L
- dj suiphuric acid, sugar !

“in the Toiven set of chemicals identify the one which contain only

. b} calcium carbonate, chlorine ;
1)
]

~

o

a) sulphuric acid, hydrogen g

silver. sulphur

;;;;;;;;; R

N

Select the most appropriate terms to fiil in the blanks below

5Wtzer‘ light is passed through water containing a few drops of milk, it!

a) refle chcm, ’I\ndall B r:cﬂ, tru

hows a bluish tinge. This is due totothe of light by miik and
hf: pu&insms,nﬁn is called yis indicates that milk is a
nlution

o

[yl

scatte z{lb, Tyﬂpali, B
c_? reilection, Brownian movemem, suspension ‘
d) Scattering, Tyndall effect, Colividal

- e n U |

rder in water is an e,'ample of

| soiution b} Unsaturated Solution
spension 4) Cedmdal Solution

{ The numerical ratio of displacement to distance for a moving oF

T et
. p i
]

()’"
Iy
s
ot
-
i

b aiways less L}‘ ant 1 b} always equal to 1
ways greater than i d) always equal or iess than

fon

P Two bodies of equal masses 'm’ moving with equal velocities &' in opposite |

direction collide. The resultant velocity of the combination is
a)v b) 2v ¢ -v d)zero 1

o
X}

Rate of © nhange of displaczment is ex xpressed in __ units :’
ayms? bl in cjms? dj kgins

e
PALD

According to the I law of motion, action and reaction

e e ——

Ty

a) always act o tH: same body E
b} always act on the different bodies in opposite direction
¢t have same magnitude and direction

B

d) act on either body at normal to each other

”3

If Nishanth, is enjoying a ride on a merry-go-round which is moving at a
speed of 10ms- It implics that the boy Is :
a) Exhibiting nonuniform motien
b} moving with no acceleration
c)in accelerated maotion

d} moving with uniform velocity

H

Using a horizontal force of 200 N, we ntend to move a wooden cabinet
zcross a floor at a constant velocity. Thcr‘ the magnitude of friction that |
will be exerted on the cabinet is

a) 200N b} 100 N ¢y 400N d) 300 N




. 23. | Which one of the following is not an example of inertia.

a) Luggage kept on the roof of a bus falls if it is not tied.
b} A fielder in the ground gradually moves backwards with the moving ball.
c) Dust can be removed from a carpet by beating it with a stick.

- d)Only one carrom coin at the bottom of the pile is removed when a fast
moving striker hits it.

Velocity of a car is 20 ms~ . This can be expressed in Km/h as
a4 b} 70 cl 42 d) 72

SECTION - B
section - B consists of 24 guestions (Sl No.25 to 48). Attempt any 20 questions
from this section. The first attempted 20 guestions wouid be evaluated.

35, Observe the given cell and match the labelling in column [ and i @
relate the informaton given mn coiumn Hi

‘ U Colum p Column I ' Column i o :
: ol ] , - :
W i Ribosome . A; Deeply folded inner membrane :
X | i)Golgl | B) Turgidity and rigidity to cells .
.. apparatus | ,
; Y i;u Mitochondria , C) Synthesise proteins i
; 7 vt Vacoule . Dy Pack pfogu%ts; in vesicies T
| AW -l D, X-iv, B; Y -1, C;Z-10i A
TRPW - L By X - ALY -y, D241 C
1 WiV, O XL BLY-E, D Z i A
LA W-iL DX -ie B Y-l A Z-1C |
126, A boy met vith an accident it which his leg bones were dislocated. Which

' among the following tissue may have been affected?

: , aj Tendon  b) Skeletal muscle ¢ Ligament d) Areolar tissue

Page -4



“Which cne of the following is not an example of inertia.
| a2} Luggage kept on the roof of a bus falls if it is not tied.
b) A fielder in the ground gradually moves backwards with the mov
c) Dust can be removed from a carpet by beating it with a stick. |
d)Only one carrom coin at the bottom of the pile is removed when a fast 3
' moving striker hits it.

fm

i

ing ball. .

|

i
i
i
i

b) 70

c) 42

dy 72

' Velocity of a car is 20 ms~ . This can be expressed in Km/h as

U +
YOI A

att

SECTION - B

' Secrion - B consists of 24 guestions (S1. No.25 to 48). Atiempt any 20 questions
his section. The first

empted 20 questions would be evaluated.

S 2B,

26,

fObserve

CoOrTe;

st
e h

&
o

given cell and match
e informaton given in column il

the labelling in column [ and

T

Column i

; Deeply folded inner membrane

4

Ay

™
T
i

[

~_ayparatus i
i) Mitochondria | C

o

DA
B} Turgidity and rigidity to cells

Svn

i

iesise proteins

ndon

TN

C
A

Pack products in vesicies

b) Skeletal muscle ¢} Ui

Page -4
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" A boy met with an accident in which his leg bones were disiocated. Which




27, | A flowering plant produced 100 seeds and all the seeds germinated into |
new plants. If the plant cell has 40 chromosomes, then the chromosomes !
present in the stamens and seeds are

' a) 20, 40 b) 40, 40 c} 40, 20 d) 20, 20 ;

28. ?Wthh one of the following tissues 1s commercially exploited to obtain |
; ' Hemp and Jute ? !
! i
3 a} Parenchyma ¢) Sclerenchyma !
' b) Aerenchyma d) Mesenchyma '

'29. | Movement of materials across the membrane in animals occurs due to
! i) Difference in concentrations of water inside and outside the cell.

. 1i) Ability of the membrane to selectively transport substances.

. ili) Amount of dissolved salts in water. ;
: iv) Flexibility of the membrane. i‘
| Ca)i, i, il b)ii, iii, iv )i, ii, iv d) All the above |
30. | This tissue has different types of cells embedded in a jelly like fibrous |
matrix. ldentify the right pair of tissues from the following |

? ' a) Blood and Lymph ¢} Tendon and ligament
| b) Areolar and Adipose d) Bone and Cartilage

i
i

;rQuestion No. 31 to 35 consist of two statements — Assertion (A} and Reason (R). |
’ Answer these questions selecting the appropriate option given below:
' a) Both A and R are true and R is the correct explanation of A

| b} Both A and R are true and R is not the correct explanation of A

¢} A is true but R is false :
d} A is False but R is true ?

i i

i
i
i

. 31.  Assertion: When a cell is placed in a hypotonic solution, cell walls apply |

" ’ equal and opposite pressure on the swelling cytoplasm. ?
t

, Reason: Cells can withstand greater changes in the surrounding medium

; | than animal cells.

N

132, | Assertion: Parenchyma cells with the presence of air cavities are called

' Aerenchyma cells. .

| Reason: They provide flexibility to the plants.

33. , Assertion : Ice, water and water vapour look different and display different
- physical properties.
Reason : Ice, water and water vapour are same chemically.

34. | Assertion: A train has more inertia than a cart.
; Reason: The inertia is more if mass of an object is more.

i
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T44.

A dumbbell of mass 10kg falls from a height of 0.8m with a downward
acceleration of 10m/s? . The momentum it transfers to the flooris....
a) 14kgm/s b)40 N c) 14N d)40kgm/s

45.

Glass ware and electronic gadgets like TV or computer are packed with
bubble wrap and thermacol by manufacturers before transporting. This is
done to

a) to decrease weight during transit

b) to increase weight during transit

c) to decrease the rate of change of momentum

d) to increase the rate of change of momentum

46.

' A constant force acts on an object of mass 5 kg for a duration of 2 s. It
i increases the objects velocity from 3 m/s to 7 m/s. Then the magnitude of |
the applied force is 5

a)10N b) 20N c)25N  d)17N

- Which of the following statements do not support Galileo’s concept of
motion?

a} Unbalanced force is required to change the motion of the object (marble)
b) No net force is needed to sustain the uniform motion of the marble.

c) The marble will remain at rest when force is not applied. i
d) If the inclination of the planes on both sides are equal the marble
' attains the same height on both sides.

48.

!'Identify the common features observed between A and B.

A B

1} Nucleus, Endoplasmic reticulum
ii) Ribosomes, Flagella

iii} Mitochondria, Chloroplast

iv) DNA, RNA

| a) 1, iil b} i, iii ¢} ii, iv d) iii, iv

Page -7



55.

Which one of the following will NOT show Tyndall effect:
a) True solution b)) Suspension ¢} Colloids d) none

56.

Which one of the following is a homogeneous mixture:
a) True solution  b) Suspension  ¢) Colloids d} none

Case

Sudhanshu drives his bike along a straight road from his house (A} to hus
daughter’s school (D). The rclation between the speed of the bike takern by
him is represented in the graph.

Study the given graph and answer the following questions

~.

i i, e w‘n"'ﬂ‘N
i
i
i

s
}

[

The part of thiei graph whicli shows accelerated motion of the bike 12
ayBC b)) AB ¢ CD dAD

If Y axis represents displacement (mj instead of veiocity, then

C D represcnts

a) Bike at rest near school for four seconds.

b) Returning back home from school with non - uniforim speed.
¢) Returning back home from school with uniform speed.

d) Retrning hack home from school with varied acceleration.

The distance travelled by the Sudhanshu at the end of the jourriey iz

a) 40 m by 400 m c) 80m d) 28 m

The value of acceleration along B C is

1 m/s? b) 01m/ s? ) 0Omy/s d) - 1m/s

Je e e oo e ok ko e e o e ok ok ko el R R R R R R R R R R R
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SINDHI HIGH SCHOOL, HEBBAL
HALF YEARLY EXAMINATION (2020-21)
SUBJECT- COMPUTER SCIENCE
Class : IX Max Marks:30
Date : 1-10-2021 Timings: 1 Hr
General Instructions:

» Read all the questions carefully
»  All the questions are compulsory

1. ‘A coded html command that indicates how a part of a webpage is displayed is called
a. Attribites
b. Tag
c. Style
d. All of these
2. The number list can be created by ____tag
a. <li>
b. <oi>
c. Bothaandb
d. None of these
3. Factors affect how an html document looks on the monitors that do not include
a. Operating system
b. Window size
c. Color depth
d. Html tag
4. With which html tag do you apply attributes that modify text size font face and color?
a. <font>
b. <mod>
c. <f>
d. <text>
5. Beasides, <B> another way to make text bold is what?
a. <strong>
b. <dark>
c. <Fat>
d. foot
6. To start alist at the count of 3, use which?
a. <ol start="3">
b. <ol begin="3">
c. <ollist="%">
d. None of these



10.

11.

12,

What is the correct HTML tag for inserting a line break?
a. <break>

b. <lb>

C. <pre>

d. <br>

Who is making the Web standards?

a. The World Wide Web Consortium

b. Internet Explorer

¢. Nestcape Navigator

d. Arpanet

Which of the following heading tags will cause a browser to render text at the largest default
size?

a. <h3>

b. <h2>

c. <h5>

d. <h4>

Which of the following is the root tag of the HTML document?
a. <body>

b. <head>

¢ <title>

d. <html>

Which HTML tag is used to display the power in expression, i.e., (x? - y2)?
a. <sup>

b. <sub>

c. <p>

d. None of the above

If a tag has its corresponding closing tag, such tags are called,
a. container tags

- paired tags

. seif-closing

i Norne of above

oo

~

. A paragraph can be aligned left, right, center or justified using <p> tag with attribute

a. extalign

b, Ahgnment

c. Align

d. Text direction



14. Rohit, grade 9 student facing toding error help him to identify the error and select the

15.

corrected html code:

<body background = “red”>

<font type= “arial”>

a. <body bgcolor = “red”> <font face= “arial”>
b. <body bgcolor =red> <font face= arial>

c. Bothaandb

d. None of these

Reena, grade 9 student facing confusion w. r. t domain name(s) and URL’s, help her to

identify the correct URL’s and domain names.
1.nttp//www.chsenic.in
2.192.168.0.1
3.http://www.khoj.com
4.doYogaEveryday.com

a. land 2areURUs
b. 2 and 4 are domain names
¢. 1,3areURL’s and 4is domain name
d. None of these
. ARPANET stands for-

Advanced Real Projects Air Network

Advanced Research Preparation Agency Network
Advanced Recruitment Process Agency Network
Advanced Research Projects Agency Network

. Web servers are:

IP addresses

Computer systems

Webpages of a site

A medium to carry data from one computer to another

. What does the webserver need to send back information to the user?

Home address
Domain name
IP address
Bothbandc

. What is the full form of HTTP?

a) Hypertext Transfer Protocol
b) Hypertext Transfer Procedure
¢} Hyperlink Transfer Protocol
d) Hyperlink Transfer Procedure



27. Who is Known as the father of World Wide Web (WWW)?
a) Robert Cailliau
b) Tim Thompson
¢} Charles Darwin
d) Tim Berners-Lee

28. The action of working blog is called
a) blogging
b) blog
c) web blog
d) none tof the above

29. Apache tomcat, lighttpd, jigsaw and sun java system are examples for
a) web server
b) web server software
¢) web siites
d) webpages

30. By default <HR> producesa _____rule?
a)2-D
b) 3-D

c)Bothaandb

d) None of the above
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